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I nE | B &= -EREA
44 R U BT (t=5cm) 1546 m |(1.8+2.3+2.3) X 100/4.14=154.6
2 R P (t=5cm) 100| m2
ASER Bk 50/ m3 |100x0.05=5.0
ASEMILIEE 18] t [5.0x2.35=11.75
TREEIE 100 m2
FE I (t=5cm) 100l m2 |®.®
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I%@ WE | B & -5 EA
SRR UIET(t=10cm) 1546 m |(1.8+2.3+2.3) X 100/4.14=154.6
25 MR A P (t=5¢m) 58] m2 [(1.2x2.0)/4.14% 100=58.0
2L R B2 (t=10cm) 42| m2 [100-58.0=42.0
ASTHER(ET) 7.1 m3 |2.9+42=71
ASTHE R (t=5cm) 29| m3 [58x%0.05=2.9
ASFEM(t=10cm) 42| m3 [42x0.10=4.2
T #E R (t=5cm) 29| m3 [58x%0.05=2.9
ASEMALIEE 167 t [7.1x2.35=16.7
HLIuEE 29| m3 [58%0.05=2.9
TREEIE 100 m2
H B I (t=5cm) 100 m2 |@
B I (t=5cm) 100l m2 |®.D.®
(% &)
I E | B T E = -EREA
44 R D BT (t=4cm) 1111 m  |(2.3+2.3) x 100/4.14=111.1
R P (t=4cm) 100| m2
ASHER Bk 40 m3 [100x%0.04=4.0
ASEMILIEE 88| t [4.0x220-88
TREEIE 100 m2
FKE I (t=4cm) 100 m2 |©
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I WE | B & -5 EA
EHEE R U W (t=5¢m) 1546 m |(1.8+2.3+2.3) X 100/4.14=154.6
A& MR AR P (t=5¢m) 100 m2
ASTHIE 50/ m3 |100x0.05=5.0
ASEMLIEE 118 t [50%x235=1138
RREEIE 100 m2
=B I (t=5cm) 100 m2 |®.@
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